








- NNI X+2
. &ﬂ = \wm\ %\@.ﬁ%\) N.Wluv t ml
h <Pt Ut i
2 gk
AXt,K x=3)
B g el
A T x4 )¢ )







A [xrxl = la [xcl)  xC _ pshmmlfﬁ

l\\\\\\\\\\\\
| - ad + <+ ﬁ«\\& nevane— 29
NVA?NVNVQ.; Xt~ u?&:i«é@\e@ %\\a\&n
\ Alxw) + BC*)
mX.GL\\MwI ) h NX.SLAX.IV

A t2B
Alx+l) + p(xtx)  © (ardyx

OXTt N\ ) Uc \A*%HQ \A+\Nh HH
Vs 74 e —
T p=(ae)-(aet) = 1m0 2]
A= = B = l\
2 (x 43 x¥2> —3X -2 K
Q@Sch \vﬁ KW” - m N
XI4BX+ A SE

IxtR

_ M { — x*43x+L A




BESLNN _ A £
e B S
geen = AL + BCxt2)
x==I ol B B (-tr2) "8
Xz =2 ~o = G (-2+1) = -A
A=« o5 ©=7
g L
H&mp\ﬁl Xi/lXivavﬂ
- W\H.«;;Vti + alxtl] * C




h XE43x t 2
l

Q@A U= X~+wX+w/
K =23

M WN\A+W Ax
Eles Nt
N.MIA —v A»A.CIV A + BX+ &

\.Nx+|\|| = XtZX AVAI—VP

y R \___—" —
.\vﬂl: Nx.ﬁ.m: = . -
(<=1 p<=1)
Qx5 T Al F e(xtz) +DCx-1)(xt 2)




£ =
v«§ X = I\N\

X=0 9
D

u.\u

-
-—

-—
-—

Y
-

A

1 =

4 (-2-)" <0 = TA

A= 0%

+ A&

+

D (-1)(z)

L(At2E ~5)
£(4+2%-5) "

£ 4(1+317-51)

(1) 3

a(fa xx 2 l?,x,:v 4%%340
AL e S
=l TS

A=

~

%% |




&

%M 23X ONY _ ww wm/&x\ (L= X3

.N\.W\Am,\..\w 1-yz) v . ;.LX&»
2z i = 3X
w - s LA, ok
i = [T )(x\(3) X3 xx\3' ...
(
= WA %h<.wj * x..<m\.w
r\}\\\\\\ |
) b EE“%AE
b - Fuw
W) 5
[ Jl &Am - | 4 o
Wb
- “%O\Qu&?

Wed







